552418 LB TAA Y KA T Yol — KR

ER27TEERBAELE RS

no[r—selmrmm|mtmm| mm [osis[xmem| mm | sr | orc | xmz | m o | Ba | xa| 55 | ma | e
| |srex 1 A1|300[200[401|300[20 1|0 @3|[1Oof s 1| 16| 6 | 0] 19| 2
2 |stmm| 1 A 2 00(400|/200|1a1|200|1 ®3|0acf 4 3 |13 ] 5| 8 | 15| 3
3| =m0 @ 3[0 @ 2 i @ 4|0 Ao0lo@ 1|1 ®3/]0 @ 4|0 @ 6| o 1| o2 | 23 | -2t | 9
475710 @ 2|0 @ 4]4 O @31 Ai1|l400l0@4|1 @3] 2 | 10| 18] 8| 7| 7
5 |xzem1 @ 4|0 @ 2|0 A 0|3 O 0 Oolt ai1|l1 @21 Oof 3 2 | 9| 9| o 11| s
6| 2m [0 @ 3|1 A 1|1 001 A 1|0 @2 1 O0|l0o @20 @ af 2 2 | 4 | 3] 9| 8 | 6
7|zE |1 @ 2|0 @ 2|30 1|0 @41 A 1|0 @ 1 | @ 4|0 @ 2| 1 e | 17| -1 ] 4 | 8
glorc|3 00|30 1|4 004 00|201|200/40: 0 A of 7 1|22 | 3 | 19| 22 | 1
9|x=+|0 @ 1|0 A 0l6 O0[30 1|0o@1|400|l200[0ao0 4 2 | 15| 3 | 12| 14|
XKARRPLIEDOHEIIZEIFZICTIRBERISRET S, Zh%

XKEFDIEEE. EREREEREHF > TCEHDIEE. EEICHI-HIL, EER EXER
KEF—LEHOERFEFEIRSIEGEEEF—LDOYR—+ET5HIEL, I ETIRE




FEOARIE L EIAT L RISy I — R EH27EERPAEERS

{ERK:15.08.27
AB |s54%)|IENO¥yI47 xt B ] #i| BB |£35E)|IENOEYI17 xt il
1nA1a |As2n| 1| 1 930 &M 4 - 0 OFC |xmmm AEx| |11A148] &M | 1|28 930 R o - 1 BE@E | BM BE
() [kE+)| 2 21000 xE+ o - 1 KEEH| OFC &M () | (mm) |2 | 1000 -
3 811030 mm o0 - 3 BLER|KEL xzem 812911030\ mmy o - 1 RE | BE 8@
4 4100 Bm 0 - 4 AEL | BM mrEx 4 | 1100 -
5 511301 oFc 3 - o BtE®R| 2E A=t 5|30/ 11301 &m 1 - 3 EE | BE EM
6/ 61200 x==@E 2 - 0 S2E |stmx OFC 6 | 1200 -
7712300 mmy 0 - 6 AELT |xmsm BHE |, 7| 120 -
8 13:00 _ 8 13:00 _
dh | 1) 8 930 mR 0 - 4 JnsLwvimiem BE depn | 131 930 Zrm®E 1 - 1 BLARA| OFC ooy
(BR) | 2| | 1000 - FosLew| 2[32] 10001 opc 4 - 0 JosLvy|miEm mtem
3 911030) =R 0 - 2 BHH#EE|sosy mtEm 3|33 1030|mtmem 1 - 0 KEL |vorw xzamE
4 | 1100 - 434/ 11000 opc 2 - 1 AEEHE|AXSE mtax
S 10[ 1130 5mpLyy 0 - 4 BLRA| BE ooy 535 1130) x=+ 0 - 0 =+iRf|xm=m OFC
6] | 1200 - 636 1200 k=g 3 - 0 JoyLwy|siiesm AEL
10A248| shma | 1|11 90|Z+iEE 2 - 0 KEEHE| OFC BRE
(1) |xzmm| (12| 1000 =R 1 - 4 OFC |st#m x=am
3131 1030| =5+48m 2 - 0 EM | EE OFC
41311000 =R o - 2 XE+t | BN stam
S| 14| N30 xmempm 0 - 0 EM |ASt ER
6[15) 1200] oFc 0 - 0 KE+ |xzam HM
sl | 116 930 w1 - 4 JoyLyy| BA miEm
@m) | 2|17 1000 =@ o - 3 BEEE|sosw BN
3 10:30 -
4191 11:00) =@ 1 - 1 JosLyy|stex BH
5 11:30 -
6/20] 1200|235 2 - 0 Josrwy| BA vosw
108318 |stacal 1|21 930 =@ 1 - 1 EHRE|KEL oo
(1) | ag@) | 2|22| 1000) xm+ 3 - 1 Jasiwy| BE mtem
3|23/ 1030) =m 0 - 2 OFC |sas.y AEL
4 11:00 -
5|24/ 1130/ 5 +4Rm 1 - 3 OFC | M OFC
stacss| 1125 9300 g 1 - 1 AEEE|zrex BE
(=) 2 10:00 -
326 1030 =R 1 - 2 EtER|xzsm stER
4 11:00 -
5

27| N30 ke 1 - 4 E+58| EF xzsm




	ライオンズ4年生結果1114-1
	ライオンズ4年生結果1114-2

